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- Subtracting Decimal Fractions (Tenths or Hundredths)

Layla is planning a bush walk. How much farther
is Springwood Falls than Hard Rock Valley?

Hard Rock Valley 1.2 km

Springwood Falls is more

i 9 km
than double the distance. Springwood Falls 39

-0.2 -

Damon drew jumps on this number line
to work out the exact difference.

2.7 29 39

\/

A

What steps did he follow? What is another way to find the difference?

Layla decides to buy some supplies.
How would you work out the difference in cost between these two items?

Janice worked it out like this.

& $799 - $2.45

$799 - $2 = $599
$5.99 - LO¢ = $5.59
$5.59 - 5¢ = $5.5L4

What steps did Janice follow? What is another way to find the difference?
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> 66.70 ) 65.30)




| know that 12.4 is
the same as 12.40.

b

13.6-10.02 =

% TALENT QUEST &

LEADER BOARD
Liam 2.4
Nina 1592
Jacob 18.51
Mary 7.2

Working Space

C.
49 - 10.35 =







B Using Written Methods to Subtract Decimal Fractions

How could you work out the difference in mass
between these two dogs?

It must be about 3 kg
becavse 17 - 14 = 3.

These students worked it out like this.

& Kylie Q Juan Q Megan
17.65 17.65 - 1L.2 17.65
- 0.20 7-14=3 - 1L4.2
17.45 65 _ 20 _ u5 3.L5
~ IL.00 100 100 |ocL)+5
345 Difference is 3 155

What are the steps in each method? Whose method do you prefer? Why?

What other way could you calculate the difference?
How could you work out the difference in cost between these two items?
The numbers are a

bit "messy” so | would
vse a writfen method.
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k
i. . .
3.88 kg 1099 kg

Step Ahead




Subtracting Decimal Fractions Involving Tenths
(Decomposing Ones)

What do you know about tides? Do tides occur at the same time each day? Look at this table.

Monday 23m 19 m 09 m 0.5m
Wednesday 2Lm 2.1m 0.8 m 0.6m

How could you work out the difference between

the first and second high tides on Monday? The difference is smalf so

| wil| count on from 1.9 m.

What is the difference between the first high and low tides on Wednesday?

Koda used a number line to find -06 -

the difference like this. /\/\

\/

A

| L 2l
What steps did Koda follow?
What is the difference between the two tide levels? @
Il
2.\
Kana used the standard subtraction algorithm to work out the difference - 0.6
between the second high tide and the second low tides on Wednesday. | 5

What steps did he follow? What does each red digit represent?

m I. Draw jumps on the number line to work out each difference.

a.

72-57=

A
\

83-15=

A
\
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Subtracting Decimal Fractions Involving Hundredths
(Decomposing Tenths)

Kimie jumped L4.85 metres in the long jump event at school.
Logan jumped 0.97 metres less than Kimie. Mia jumped 0.29 metres less than Kimie.

How could you work out the length of Logan’s jump?

| would count back
and adjust my +0
answer |ike this.

-
03
I
385 388 -85

Draw jumps on this number line to show how you could work out the length of Mia’s jump.

\/

A

These three written methods were used to work out the length of Mia’s jump.
What are the steps for each method? Complete the calculations.

@ L 85-0.09=176 Q L4.85 - 0.29 Q
L-0=L b

N 00
o1

L.76 - 0.20 =

85 _ _
100 100 100

Difference is

Difference is

Which method do you prefer? Why?
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7.26 = 3.65=

9.20-785=

a. b. .
8Lb6-3.18 = 9.35-572= 15.82 - 12.09 =

d e

18.03 - 10.85 = 1072 - 497 = 2158 - 753 =

© ORIGO Education.
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0 o | can ec.sily work out the
difference between 35.6 and 22.6.

Does it change the answer
if you show 22.6 as 22.60?

12 noon 35.6°C

Ila.m. 28L2°C

8am. 22.6°C

S5am. 157°C



a. b. Cc.
32.30-19.8= 18.37-129 = 2502 - 104 =

d. e. f.
L5 -9.07 = 283 -1572= 6.04-09 =

g. h. i
243 - 1724 = 6.79 -5.73 =

12.88 - 1099 =




6.7

‘ o The difference between 17 and 5 is 12,

so the first package is about 12 kg heavier.

0 What steps did he follow?




Step Ahead




m Introducing the Coordinate Plane and Plotting
Ordered Pairs

. . A Town Model
This coordinate plane shows a town model. 21
The coordinates give the location of the buildings, 20
trees, and the cars. Each star represents a tree 19 ()
and each circle represents a car. 18
17 S
A coordinate plane is a rectangular grid which IT‘
has a horizontal axis called the x-axis and a 16 *
vertical axis called the y-axis. The origin is where 15
the axes meet. ™ ITK
. e . I3
Two numbers that describe a specific point on a
coordinate plane are known as an ordered pair. 2
These numbers may also be called coordinates. I
10 Park
The first coordinate in an ordered pair tells the 9
distance to move from the origin along the x-axis.
The second coordinate tells the distance to move 8
up the y-axis. 7
P y School
6
Where is the origin on this coordinate plane? 5 ‘
What are the coordinates of the origin? L
What is located at the coordinates (4, 15)? s Py
2 O
|
0 B>
0O 1l 2 3 L 5 6 7 8 9 10 II I2

m Look at the coordinate plane above.

I. Write the coordinates and the colour of each car.

Car colour red

Coordinates (8, 10)

2. Write the coordinates of the four corners of the school and the park.

School

Park
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3. This table gives the coordinates of three corners of rectangular buildings in a different part
of the same town. Mark the three corners on the grid below. Write the coordinates of the
Lth corner in the table. Then shade the buildings on the grid.

N W F 01 o N 00 O

0]

Bank (3, L) (3, 8) (7, 8)
Hotel (8,7) 8, 1) (12, 1)
Hospital (IL, 10) (19, 10) (19, 6)
A
O I 2 3 L 5 6 7 8 9 10 Il 12 I3 I+ 15 le 17 18 19 20 2I=

L. Mark the location of these three cars on the coordinate plane above using the information
given. Make sure they are not on a building. Then complete the ordered pair for each location.

Car colour

red

blue

green

Coordinates

. 8)

(3,

Step Ahead

Start at (8, 10). Move to (

). Then move to

Use the model at the top of page I42. Here are the beginnings of instructions
to move the red car from between the school and the shopping centre to the
other side of the park. Continue and complete the instructions in the same way.

ORIGO Stepping Stones 6+ 6.3

DRAFT

Finally move to (I, 10).
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- Identifying Relationships Between Two Numerical Patterns

Wnat do you notics? 0000
000 000e
00 ) 0000
© 00 L ©00ee
I L

2 )

What numbers should be written in the second row of this table to describe the pattern?

Picture number

Total number of counters

How did you work out the numbers to write in the table?

What do you notice about the number you wrote for each picture?

000

@O® () )

@® 000 0000
I 2

3

Picture number

Total number of counters
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Picture number

Number of
squares

Number of
toothpicks



YEAR

Picture number




m Representing Real-World Data on a Coordinate Plane

Lela has saved $10. She plans to save $2 each week.

How could she show the amount she will save in 10 weeks?

She could vse a tfable.

Number

of weeks 0 2
Amount

saved 10 12

She could use ordered paits.

A groph oh a coordinafe
plane is a 9ood way to show
how the savings grow.

Lela started with $10. Where is that point on the graph?
What ordered pair matches that point?

What do you notice about all the points?

How long will it take Lela to save $L40?
How do you know?

IL4+8

Amount saved ($)

S — N W F 01 o N 0 O

0O 2 L4 6 8 10 12 I4 I6 I8

DRAFT

Number of weeks
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Number of weeks

Amount left

Step Ahead
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m Interpreting Coordinate Values for Real-World Situations

Ashley, Rita, and Dixon are siblings. They were all born in January but in different years.
The blue points show Ashley’s and Rita’s ages on April 4 in three consecutive years.

Rita's and Dixon’s ages in years

SO — N W F 01 oo N 00 O

o 2 4 6 8 10 12 M 16 18 20
Ashley’s age in years

What do you notice about the points for the Ashley and Rita?

What ordered pairs would you write for the three points that match Ashley’s and Rita’s ages?
What ordered pair would you write for Ashley and Rita at their next birthday?

How do the ages of Ashley and Rita compare?

How old will Rita be when Ashley is 15 years old? How do you know?

If you know Ashley’s age, how could you work out Rita’s age?

-
Does it make sense to join the ordered

paits that show Ashley’s and Rita’s ages? ~@ '

I. The red points on the coordinate plane above show Ashley's and Dixon's ages
on April &4+ in three consecutive years.

a. What ordered pairs would you write for the three points?

b. If you know Ashley's age, how could you work out Dixon's age?
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Number of weeks

Step Ahead




